FUNCTIONAL SCHEMATIC — RUSLAN TYPE GENERATOR
(ABSOLUTE)

In order for the oscillating circuits COEE N to work for example at Ins Toro utobbl KonebarenbHbie koHTypa CD EF HG pa6otanu k npumepy Ha 13,7Khz(ux PesoH Yacrora) uamepbre B 3TUX TOYKaxX
13.7Khz (their Reson Fr , measure the i at these MHAYKTUBHOCTb M PACYMTANTE ANA STON YACTOTbI EMKOCTb NOCTABbTE HYXKHbIE pacy A no ccbinka
points and calculate the capacity for this frequency, put the necessary B.onMcaHmm

i by the s Toro uTo6bl yBUAETL dasy TOK Ha ocuunorpade

BaM HY>HO CAENaTb TOKOBOE KO/IbLO OTNanATb
0AUH 13 NpoBoAos Touek CD NponycTUTL KONbLO Yepes NpoBoa,
¥ NPpUNOATL Ha MeCTo

in order to see the phase of the current on the oscilloscope, you need to
make such a ring, unsolder one of the wires of the CO points, pass the ring
through the wire and solder into place

Pushshpull generator 13.7 Khz creates a current (magnetic field) and the leneparop Mywwnynn 13.7Khz

voltage controls the poles of the magnetic field must be able to adjust Cospaer Tok(MarnutHoe Mone)
the frequency and duty cycle v Hanpaxenve,
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Generator Turns on the A. In the tesla frequency 1.37Mhz with a wacroty Tecnbl 1.37Mhz ¢
frequency of 13.7Khz is done in order to get into the phase of the sacrotofl 13.7khz penaeroca
7R TOr 4ToBbI NoNacTb no
current should be able to regulate the frequency and duty cycle base Toka onwen
well and wish the phase shift YMeTb perynuposars Hactoty
¥ CKBRXHOCT HY W NOKENaHMIo
$asosbili casur
The generator of the main resonance frequency TeHepaTop OCHOBHOM pesoH ol o n
tesla 1.37Mhz should be able to adjust the uacrorel Tecnbi 1.37Mhz gomken

YMeTb perynuposarts yacrory

frequency and duty cycle 1 CKBaXHOCTD

Antenna (Toroidal Condenser) Has its own capacity of about 0.91 pf with a | | i Umeer
given configuration of 11 turns of 10 kV mm frame 110 pipes [tubing] 0,910 npu 118uTKOB 10K8 MM KapKac 110 TpyGbI

Abifilar (Grenade) transformer removable total number of turns 220 for a | 20

current of 30 amps is wound with a 4-square-mm wire for 220 volts always amrora s 4 na

choose 220 turns [revolutions priGupacTuca 220 sumees

The primary winding for a removable transformer winds 110 turns 1/2 grenades [l 10 —

BuTKOB 1/2 rpanatst
The secondary winding ofthe transformer push poolcan be performed onthe gy A
ferrite core or on the air core winding wire 4 mm square 2vitka Pa
nposogom 4 mm ke emia

The primary winding is a pushspull 12 + 12 turns for 24v for 12v 6 + 6 turns Tepientan oBaNoTRS RIS oS 12+12 S i 245" A 124 646 Woivs

Transformation coficent 3 turns / 24 turns =0.125 24 * 0+ 125 =3 Kodmuenr pancopmaumm 3 sura / 24euTka=0,125 24v*0.125=3

the difference between 3 turns and 110 turns 110/3 = 36.6 pashmia meway 3 suriamn w 110 swriamu 110/3=36,6 SRR

the difference between 220 and 110 220/110 =2 ey ‘:’:"’/ 110=2

follows when serving Biv0125035, 60e2e215 R e S

24v*0.125 * 36.66 * 2= 219.6v 124%0.125*36.66+2-109.8v(He AocTatouno Ann menve! mesoof

12 * 0.125 * 36.66 * 2 = 109.8v (Not enough for organizing self-sapit) for 12v 12v i [
use 6+6 ouTKa Ka nepBIIKe nywINYRa TorAa Echm Mepenura Tecsi 3 e 500/3=166°24v=dkv |
6+6t th hsh, | 12%0,250*36,66*2=219,6v ecnm nopats Ha 6+6

OIS Of e PUshisRooT RINNALY, suTKa 24v*0.250*36.66°2=439.2v(Baw GnoK nuTanwa £ .
12%0.250 * 36.66 * 2= 219.6v if you apply for 6 + 6 turns 24 * 0.250 * 36.66 * awiiiper ua crpon) -y
2=439.2v (your power supply will fail) I ()
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Diodes from 16A ultra fast

> Coils Wire Pugv 4mm (It is Flexible, it will be
- 215 easier for you to wind) Take 40m
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AHTeHa 11BuTKOB 10MM KB
Antenna 11vitkov 10mm square

NOTE: This Functional Schematic does not include the 28-26 turn Pot winding that typically connects in series
with the Grenade Coil (some systems show this winding and some do not).



FUNCTIONAL SCHEMATIC — RUSLAN TYPE GENERATOR
ADAPTED FOR STAN MEYER DEVICE (ABSOLUTE)

antena (Toroidal Condecator) Has its own
capacity about 0.91pf with a given configuration 11vitkov 10kv mm frame 110
pipe

- umeer depronit s ferttovy
| AuTeHa( WUmeer ceppeHk a7 12v 6+6 uTon corefor 12k6 + 6 tums
emKocTb nopaaKa 0,91nd NP AaHOM KoHMrypauuu 118uTkos 10ke MM KapKac 110 Tpy6bl a2y 12412 surion for 20 12.+12 turns
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pick up inductance at points 3 and 4
(inductance can be wound on the air core)
» Yo An example is if the capacitance at points 1 and 2 is 14nf, then fora
pbTe EMKOCTL PaBTOMKAX 1M 2 frequency of 41080 hertz, an inductance of 1072 pH is needed
nop6epuTe MHAYKTUBHOCTb B TOUKaX 3 U 4
(vnayk MOXHO b Ha ay cepa )
npumep ecnm emkocTb B TouKkax 1 u 2,14Hé 10 Ana yactotbl 41080 repuy Hy»KHa MHAYKTMBHOCTb 1072 MKIH
This technology breaks water down into 120 Focupern o o
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Generator Turns On
Tesla frequency 4.1Mhz with

41Khz frequency is done

in order to get on

phase current should

be able to adjust the frequency

and duty cycle well and wishes
phase shift (pushes the current into
two phase mode)

Generator main reason
Tesla frequency 4.1Mhz Must
be able to adjust the frequency
and duty cycle
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Tenepatop Briouaer
uacrory Tecnbi 4.1Mhz ¢
uactoroii 41Khz genaersca
Ans Toro uTo6bI nonactk no
dase Toka gomKen

YMeTb perynuposars uacrory

W CHBEKHOCTB HY U NOKENaHMIO
$asoebiii casur (TonKaet Tok B
AsybasHom pexume)

FeHepaTOp OCHOBHOV pesoH
wacroTsl Tecnbt 4.1Mhz gomxen
YMeTh perynuposars uactoty

W cKBaHOCTH

NOTE: This Functional Schematic does not include the 28-26 turn Pot winding that typically
connects in series with the Grenade Coil (some systems show this winding and some do not).



